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High School HS Algebra
ALG_PS_EOC_NO_CALC_Unit 2

Name:

Block:

1. What value of x=? makes the

x ¥
relation not a function? 1 2
? 5

A) -5 3 8
B) 0 8 6
C) 4 5 4

6
: EGSE9—12.F.IF.1) Understand Functions

2. The cost of tuition at Johnson Community College is
516[}@ credit hour. Each student also has to pay
§5§2 in fees. Model the cost, C, for x credit hours

—

taken. \3 = Mx.‘.—b

A) C(x)=50x
B) C(x)=160x
C(x)=110x
éc(x}:l&}xﬁo
(MGSE9-12.N.Q.2) Descriptive Modeling

3. Which of the following is the graph of
A4+3x=-2x-27

MN=2 M=z=-2
b:‘l’ b=-2
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MGSE9-12.A.REI.12) Graph Solutions
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W ‘I\uv\ X=©O
4. Whatis the e y-intercept intercept of the line with the equation
T 3% + 4 4y = 127

G?}Dg (o) +—43 =\
Q) 2 _%— \:
D) 12

(MGSE9-12.F.IF.4) Interpret Fpatures

l../x -—7X "'—O +-ll

—_— —

5. Simplify.
(3x® — 7x2 + 12) — (3¢ Qﬁx &1036)

Soly '_..FO' o

A) —x? + 10x + 12 7 /‘BXJ(DX'HD.

(8D —13x* — 10x + 12
C) —6x3 + x2 — 10x — 12
D) —9x% — 42x* — 10x + 12
(MGSE9-12.A.APR.1) Polynomial Arithmetic

6. Solve the inequality,SN

—4Am+3(m+1)+4>0
@mﬂ\ W\-\—%m-\'z-\'%>
B) m>7

—\lm +Z4 >0

C) me<-1
D) m<-7 —tm >

(MGSE9-12.A.REL.3) Linear Equations

/_“B‘fsgl%
Yemrtb @%32’ ’5& 3

s

9. Graph:

Pall

(MGSE9-12.A.REI.10) Understand Graphs

10. Muteiply: (x + 2)(2x2 — 3x + 5).
223 — 7x?2 — x + 10
223 + x2 —x + 10
) 2x% 4+ 7x% + 11x + 10
D) 2x3 — 7x* — x%2 + 10

MGi9 12. ﬂgﬂ 1) Polynomial Arithmetic
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7. Solv
(x+1)—2x+4=—4+4(x+1) — 4x

B os WA Axdty o Lty —4x

B) x=
@Dx=7X4+171 = O
D) x=-9 -1 -7

{MGSE9—12.A. Ig'luations

8. Allie needs at least 50 hours of community service
for social SMIready has 20. How
+ many more hours does she need? Write an
inequality to model this situation.
m X+ 2050
X +20 2 50
C) x-20=50

SR x+50220

(MGSE9-12.A.CED.1) Create Equations

May 03, 2021

11. What is the x-coordinate at the peint of intersection
for these equations?
f(x) = 2.8x — 12
g(x) = 58x + 9
W7 [ @ ytkq = 2E 12
B35 s> —X3*
C)3 —
D) 7 3% ":\3‘

(MGSE9-12.A.REI.11) Explain Solutions To F(x) =

Glx) xR = -2
2F 2 &=

12. Ifx+4y=18and x -4y =2,theny ="
@ 2 X+ =\
B) 4 + (XA =)
C) 10 ;.Z =20
D) no solution®
(MGSE9-12.A RELS5) System Of Equations
@ - Ll'\s =2 >
— —=2—I0
= -

—

= —Y4

&
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13. To solve this system of equations by elimination,
what operation could be used to eliminate the y-
variable and find the value of x? L|. 4,9, (
2 NS
2x —4y =6 I*> 526
—3x + 3y = 12) X &
add 3 times the second equation to 4 times the
first equation
add 4 times the second equation to 3 times the
first equation
subtract 3 times the second equation from 4
times the first equation
subtract 4 times the second equation from 3

times the first equation
(MGSE9S-12.A.RELS) System Of Equations

¥ X (@ X

14. Given 7cx + b = a, rearrange the equation for x, mLJ 4@(0\ L(,UM{’IDN

terms of 3, b, and c.
7C
i

7c
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